
GCSE Mathematics

Practice Tests: Set 1A
Paper 3H (Calculator)

Time: 45 minutes

You should have: Ruler graduated in centimetres and millimetres, protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

· Use black ink or ball-point pen. 

· Fill in the boxes at the top of this page with your name,
centre number and candidate number. 

· [image: image1.emf]Answer all questions. 

· Answer the questions in the spaces provided

– there may be more space than you need. 

· Calculators may be be used.

· Diagrams are NOT accurately drawn, unless otherwise indicated.

· You must show all your working out.
Information

· The total mark for this paper is 40 

· The marks for each question are shown in brackets
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

Answer ALL questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1.
There are only red beads and green beads in a bag.

The ratio of the number of red beads to the number of green beads is 5 : 9

(a) 
What fraction of the beads are red?

..............................................

(1)

There is a total of 84 beads in the bag.

(b) 
How many of the beads are green?

..............................................

(3)

Susie is going to put some more beads in the bag.

There will still be only red beads and green beads in the bag.

Susie wants to have twice as many green beads as red beads in the bag.

(c) 
What beads should she put in the bag?

You must explain your answer.

(3)

(Total 7 marks)

___________________________________________________________________________

2.
Coventry Estates sells houses.

In February they sold twice as many houses as in January.

In March they sold 10 more houses than in February.

In April they sold half as many houses as in March.

Coventry Estates sold a minimum of 123 houses from 1st January to 30th April.

Find the least number of houses sold in January.

......................................................

(Total 5 marks)
___________________________________________________________________________

3.
The diagram shows a circle inside a semicircle.

[image: image4.emf]
The circle has a diameter of 10 cm.

The semicircle has a diameter of 20 cm.

Work out the area shaded.

Give your answer correct to 1 decimal place.

.............................................................. cm2
(Total 5 marks)
___________________________________________________________________________

4.
Sam invests £5000 at 2.8% per annum compound interest for 4 years.

(a) 
Work out the value of Sam’s investment at the end of 4 years.

£..............................................

(Total 3 marks)
___________________________________________________________________________

5. 
(a) 
Complete the table of values for y = x2 – 4x – 2
	x
	–1
	0
	1
	2
	3
	4
	5

	y
	
	–2
	–5
	
	
	–2
	3


(2)

(b) 
On the grid, draw the graph of y = y = x2 – 4x – 2

[image: image2.emf]
(2)

(c) 
Use your graph to estimate the values of x when y = –3

x = .....................................

x = .....................................

(2)

(Total 6 marks)
___________________________________________________________________________

6.
Carolyn has 20 biscuits in a tin.
She has


12 plain biscuits


5 chocolate biscuits


3 ginger biscuits

Carolyn takes at random two biscuits from the tin.

Work out the probability that the two biscuits were not the same type.

..............................................

(Total 4 marks)

___________________________________________________________________________

7. 
The diagram shows an equilateral triangle.

[image: image3.emf]
The area of the equilateral triangle is 36 cm2.

Find the value of x.

Give your answer correct to 3 significant figures.

x = ......................................

(Total 3 marks)
___________________________________________________________________________

 8.
Prove algebraically that the product of two odd numbers is always an odd number.

(Total 3 marks)

___________________________________________________________________________

9.  
A farmer wants to estimate the number of rabbits on his farm.

On Monday he catches 120 rabbits.

He puts a tag on each rabbit.

He then lets the rabbits run away.

On Tuesday the farmer catches 70 rabbits.

15 of these rabbits have a tag on them.

Work out an estimate for the total number of rabbits on the farm.

You must write down any assumptions you have made.

(Total 4 marks)
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